Recorded by: Fabio Henao

Vendor's Name			EnviroWaste Services Group, Inc.		Cloud 9 Services, Inc.	
Vendor's City & State:			Miami FL		Orla	ndo, FL
Item	Description	QTY	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
1	MOBILIZATION AND DEMOBILIZATION NON-EMERGENCY BASIS	1	\$750.00	\$750.00	\$2,500.00	\$2,500.00
2	MOBILIZATION AND DEMOBILIZATION EMERGENCY BASIS	1	\$1,500.00	\$1,500.00	\$3,500.00	\$3,500.00
3	BASELINE SERVICE EQUIPMENT AND QUALIFIED CREW (VAC ONLY)	100	\$2,000.00	\$200,000.00	\$1,200.00	\$120,000.00
4	ADDITIONAL FEATURE- MIN. 70 GPM @ 2,000 PSI JETTING (LIGHT JET CLEANING, AS REQUIRED)ADDITIONAL FEATURE- JETTING (AS REQUIRED)	100	\$500.00	\$50,000.00	\$400.00	\$40,000.00
5	ADDITIONAL FEATURE- MIN. 150 GPM @ 2,000 PSI JETTING (MEDIUM JET CLEANING, AS REQUIRED)	100	\$0.00	\$0.00	\$0.00	\$0.00
6	ADDITIONAL FEATURE- MIN. 500 GPM @ 2,000 PSI JETTING (HEAVY JET CLEANING, AS REQUIRED)	100	\$0.00	\$0.00	\$0.00	\$0.00
7	ADDITIONAL FEATURE- SUBMERSIBLE PUMPING SYSTEM FOR SUBMERGED STRUCTURE CLEANING USING AN AUXILLARY PRESSURE CONTAINMENT/DECANT SYSTEM	100	\$0.00	\$0.00	\$4,000.00	\$400,000.00
8	ADDITIONAL FEATURE- 49' KNUCKLE BOOM CRANE WITH TELESCOPING TUBES	100	\$0.00	\$0.00	\$0.00	\$0.00
9	ADDITIONAL FEATURE- CONFINED SPACE ENTRY WITH CERTIFIED CREW	100	\$500.00	\$50,000.00	\$1,750.00	\$175,000.00
10	ADDITIONAL FEATURE- CONFINED SPACE ENTRY WITH CERTIFIED CREW (SUPPLIED AIR REQUIRED)	100	\$1,000.00	\$100,000.00	\$2,750.00	\$275,000.00

Recorded by: Fabio Henao

Vendor's Name			EnviroWaste Services Group, Inc.		Cloud 9 Services, Inc.	
Vendor's City & State:			Miami FL		Orlando, FL	
11	DISPOSAL OF SANITARY SEWER SOLID WASTE MATERIAL OFFSITE (INCLUDES TRANSPORTATION)	500	\$75.00	\$37,500.00	\$130.00	\$65,000.00
12	DISPOSAL OF SANITARY SEWER SOLID WASTE MATERIAL AT CITY FACILITY AT 5100 L.B.McLEOD RD (INCLUDES TRANSPORTATION)	500	\$200.00	\$100,000.00	\$250.00	\$125,000.00
13	DISPOSAL OF STORMWATER SYSTEM SOLID WASTE MATERIAL OFFSITE (INCLUDES TRANSPORTATION)	500	\$75.00	\$37,500.00	\$130.00	\$65,000.00
	ITEMS 1-13 TOTAL BID			\$577,250.00		\$1,271,000.00
Invitation for Bid Price Form			YES		YES	
Solicitation Cover Page			YES		YES	
Bid Bond (10% of Base Bid) (00300-8-10):			YES		YES	
W9			YES		YES	
Bidders Certification Signed and Notarized			YES		YES	
Bidders Questionaire			YES		YES	
Conflict of Interest Form			YES		YES	
Contract Acceptance Form			YES		YES	
Minority/Women Owened Business Enterprice Form			YES		YES	
Veteran Business Enterprise Participation Form			YES		YES	
Equipment List			YES		YES	
Addendum Acknowledgement Form (1-Addendum Issued)			YES		YES	
Addendum Acknowledgement Form (2-Addendum Issued)			YES		YES	

Vendor's Name		U.S. Submergent Technologies, LLC			
Vendo	Vendor's City & State:		Sarasota, FL		
Item	Description	UNIT PRICE	TOTAL		
1	MOBILIZATION AND DEMOBILIZATION NON-EMERGENCY BASIS	\$3,500.00	\$3,500.00		
2	MOBILIZATION AND DEMOBILIZATION EMERGENCY BASIS	\$5,500.00	\$5,500.00		
3	BASELINE SERVICE EQUIPMENT AND QUALIFIED CREW (VAC ONLY)	\$3,750.00	\$375,000.00		
4	ADDITIONAL FEATURE- MIN. 70 GPM @ 2,000 PSI JETTING (LIGHT JET CLEANING, AS REQUIRED)ADDITIONAL FEATURE- JETTING (AS REQUIRED)	\$250.00	\$25,000.00		
5	ADDITIONAL FEATURE- MIN. 150 GPM @ 2,000 PSI JETTING (MEDIUM JET CLEANING, AS REQUIRED)	\$750.00	\$75,000.00		
6	ADDITIONAL FEATURE- MIN. 500 GPM @ 2,000 PSI JETTING (HEAVY JET CLEANING, AS REQUIRED)	\$2,500.00	\$250,000.00		
7	ADDITIONAL FEATURE- SUBMERSIBLE PUMPING SYSTEM FOR SUBMERGED STRUCTURE CLEANING USING AN AUXILLARY PRESSURE CONTAINMENT/DECANT SYSTEM	\$2,500.00	\$250,000.00		
8	ADDITIONAL FEATURE- 49' KNUCKLE BOOM CRANE WITH TELESCOPING TUBES	\$2,000.00	\$200,000.00		
9	ADDITIONAL FEATURE- CONFINED SPACE ENTRY WITH CERTIFIED CREW	\$1,000.00	\$100,000.00		
10	ADDITIONAL FEATURE- CONFINED SPACE ENTRY WITH CERTIFIED CREW (SUPPLIED AIR REQUIRED)	\$2,500.00	\$250,000.00		

Recorded by: Fabio Henao

Vendor's Name			U.S. Submergent Technologies, LLC		
Vendor's City & State:			Sarasota, FL		
	DISPOSAL OF SANITARY SEWER SOLID WASTE MATERIAL OFFSITE (INCLUDES TRANSPORTATION)	\$63.00	\$31,500.00		
12	DISPOSAL OF SANITARY SEWER SOLID WASTE MATERIAL AT CITY FACILITY AT 5100 L.B.McLEOD RD (INCLUDES TRANSPORTATION)	\$115.00	\$57,500.00		
13	DISPOSAL OF STORMWATER SYSTEM SOLID WASTE MATERIAL OFFSITE (INCLUDES TRANSPORTATION)	\$42.00	\$21,000.00		
	ITEMS 1-13 TOTAL BID		\$1,644,000.00		
Invita	ntion for Bid Price Form	YES			
Solici	tation Cover Page		YES		
Bid Bond (10% of Base Bid) (00300-8-10):			YES		
W9		YES			
Bidders Certification Signed and Notarized			YES		
Bidde	ers Questionaire	YES			
Confl	ict of Interest Form	YES			
Contract Acceptance Form			YES		
Minority/Women Owened Business Enterprice Form			YES		
Veteran Business Enterprise Participation Form			YES		
Equipment List			YES		
Addendum Acknowledgement Form (1-Addendum Issued)			YES		
Addendum Acknowledgement Form (2-Addendum Issued)			YES		